Vriting About Mathematics

1. Can the equation x> = 9 be solved by factqring? Explain your answer.

2. In Example 4, the trinomial was written as the product of three factors. Only two of these
factors were set equal to 0. Explam why the third factor was not used to find a solution of

the equation.

leveloping Skills

|

13-38, solve each equation and, check.

3.x2—=3x+2=0
6.7 —12r+35=0
9.x24+2x+1=0
@x"+x—6=0
15.x2-x—-12=0
18. m2—64=0
2L.s2—-s5s=0
24.x2—x=6
27.r2=4

30, 2 = —ds

33)30 + x =2
36) x(x — 2) = 35

4, z?—Sz-Il4=0
7.2+ 6c+5=0
10. y2 + 11y + 24 = 0
@) +2x-15=0
16 x> — 49 = 0

19. 3x2 — 12 =0
22.x2+3x=0
25. )2 —3y =128 -

x2=121 ,
y2 =8y +20

x*+3x—4=50
(37)yr-3)=4 -

5.x2—8+16=0
8. m2+10m+9 0

1L X2 —4x—-5=0

14.°2—r—72=0

17. 2 —4=0
@)@ -2d=0
23.2+82=0

'26. ¢*— 8¢ = —15

£9)y2 =6y

 32.x2=9x—20

2'x2+'7.=5—5x_.
| x(x+3)=40'
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12) X34 X-b=0"
(x +3) (x-2)70

x+3fo{ X-2<0
x=-31 x=2

£-32%

28) & =Hizi
x= * 1
£, H}'

of, w2z =12/

xe=121=0
(;(-H\) ('x-Hl):a

X-l=0 { X+i=0
X =1} X = -1}

33) 3o¥x=x?
XZ—Y—‘SO:O
(X -6) (x+5)=0

X-6=0 } ¥y 50
¥=b X =-5

'{'514’%

3(,) % (%-2) =35
Xxz~2x =35
%=-2%x~-35=0
(x-7) (x+5)=0
¥-7=0 ]X-H‘B:G
%= ®=-5

{"5«'7%

3) %%*+2x -570

8% +5) (x-3)=0

XESF0 | weBeo
X=-3 X =3

£-53%

29)  y*: ey
y2 -by =0
yly-b) =0

Y=o ] y-b=f;

y=b
£o,6%

34) X% +3x-4=50
X2 +3%-5% =0
(x+2)(x6) =0
x+‘1=0/ K=
¥=-9 X=b

{L-a6%

37) y(y-3)=4
e
yz_gy-l['v'o

(y-4) Cyt)=o
y-4=0 } y+1=0
y=Y =~/

£y

35) 2x%+7=5-5X
f‘xir-'«f-
XPF5x 2o
2xZ +4X +X+2 =0
2x(%+2) -H(’&H—?,)

(Zx+1) (x+2)=0

ﬁx‘l»i'it?‘gg ¥ ETD
zx=-l I x=-2 .

X= E gw‘l‘-zb
Z2) 5

23 ) XCx+3) =40
x4+ 3Ix THC
XE ¥F3Y -0 =0
(x+38)(x-5)=0
x"-?-sro, w5 =0
¥=-8 ! x=5

£-3,5%




